
Answer on question 34016 – Math – Algebra 

if a+(b*b)=19 and (a*a)+b=13, find the value of a and b 

Solution 

We have the system of two equations 

{𝑎 + 𝑏2 = 19
𝑎2 + 𝑏 = 13

  ⇒   {
𝑎 = 19 − 𝑏2

(19 − 𝑏2)2 + 𝑏 = 13
 

We need to solve the equation 

361 − 38𝑏2 + 𝑏4 + 𝑏 − 13 = 0; 

(𝑏 − 4)(𝑏3 + 4𝑏2 − 22𝑏 − 87) = 0; 

𝑏 − 4 = 0  𝑜𝑟 𝑏3 + 4𝑏2 − 22𝑏 − 87 = 0; 

The solutions of the equation 

𝑥3 + 4𝑥2 − 22𝑥 − 87 = 0 

 
 

 
 

 
a respectively equals: 3; -4.22124; -2.88477. 

 

 

Answer: (3;4), (-4.8;-4.2), (-3.9;-2.9). 
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